e

PIONEER INTERNATIONAL UNIVERSITY

Powered by Intellect, Driven by Values.

UNIVERSITY EXAMINATIONS
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UNIT CODE: ACCT 3111 UNIT NAME: ADVANCED FINANCIAL ACCOUNTING
DATE: DEC2021| TIME: 2 HOURS

Instructions: Answer question ONE and any other TWO questions.

QUESTION ONE (30 Marks)

a) X, Y and Z have been trading as partners sharing profits and losses in the ratio of 3:3:2 on 1%
July 2015, they decided to dissolve the partnership and all the assets were sold in a single
transaction in the market. The balance sheet as at 15 July 2015 was as follows:

X, Y and Z Partnership
Balance Sheet as at 01 July 2015
Sh. Sh.
Non-Current Assets
Freehold property 60,000
Equipment 30,000
90,000
Current Assets
Inventory 16,000
Account receivables 9,000
Cash at bank : 4.200
29,200
Current Liabilities
Account payables (6.000)
Net current assets 23.200
Net Assets 113.200
Financed By:
Capital accounts: X 78,000
N 26,000
Z 4,000
108,000
Current accounts: X 1,400
Y4 (600)
Z 400 1,200
109,200
Non-Current Liabilities
Loan from bank 3,000

Loan from Y 1,000 4,000
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